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A. -8x—(3-2x)-2(4x + 1)-4(-2x—-4)
“SK—F+ L -SR- 2+ DX + 10

—bx + Il

M Iox—3+26+60-9x-3-(1-% |
— 10X ~B+1D +)AX=F% -3-1+X
-bx +2

B. -4(—2x—7)+6x—7—2(3x—2)+3(—2x—2)
8K +A8+ (% ~F - oL +4 —4% =0
AX + 19 ‘

N. 9—3(—4+3x)+12x——4—(-3X—3)-X
G+~ A% + JER —H+F% BN
bx + 20

C. 6(5x+1)—3(dx—2)—5x—5+5(-3x~2)
- 30% +o— V&% b6 - 5% 5~ 6% =10

-bdX - 3

0. 7-4(2x-4-(x+ 1)—4x—6—(-4—x)
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- A% + 20

D. -5+(-3x+2)——5x—2(9—2x)+6x—3
~B-3K+2- 5K~ Ve + s+ bx 5
Ay — 24

R. 3(—x—5)—4—2(x+6)—4x+5—3(—5—x)

~ 3% 5 ~H - 3K~ LAY+ 5415 +3¥

-byx —1l

E. 52-x)+4(3—-x)—-2x+ 1—x+4(2x-4)

10 + 5% $ 1AL FrA AR XA

~lox-13

S. 9-3(-2x +8)—5x+2(3x + 3) +2(-6 +x)
Gk~ 24 —~9K t px+ =1 +XF
4% =2

G. -11—5(—2x+4)—2;|—(x—3)+4(—4——x)
_H +40% = 20 KK+ B 1=K
Fx-5% -

T. 7x—2_(4—2x)+6(5—x)—x+2—(§x+5)
A 5+ 44 430 ~ W% X 4 A5

—R¢ + 19

L. -2x+5—4(5—2x)+3x—(9—5x)+4
-3 +5-20 + 8% 13x -4 + Sx+4

Y. 9-(2-30 +4(x+6)—x+ 12 -3(2x—3)
G423+ F% ~Hr + A% +1ax T

IHX =20 -8x +5b
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.52 -10i_13 -2x+20 6x+3 -10x—13 2x+19 6x—11 -8x+56
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